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Note: Answer any 2 full questions, choosmg one full quest1on from each part

QN / Questlons lMarksinTi CO's
PART A

l aTwo 01rcu1ts A and B are connected in parallel across 8 L3 CO1
200V, 50Hz supply. Circuit A consist of 10 1e51stance |
and 0.12H inductance in series while circuit B consist of
20 Q resistance in series with 40uF capamtance'
Calculate I) Current in circuit and B ii) Total current 111)
Total power

bShow that two wattmeters are sufﬁc1ent to measure 6 1L2jCOlj

thlee phase power for 3 phase balanced ClI'CLllt |

c| ln three phase star connection find the relation between 6 L3 COl

line and phase values of current and voltage. Also derlve
the equatlon for three phase power.

2alA balanced three phase star connected load draws poweri 8 L3 COl1
from 440V supply. The two wattmeter connected '
‘ 1ndlcated W1=750W and W2=1.5K'W. Calculate power,
! power factor and current in the circuit. If the W1
wattmeter is reserved, what would be the phase angle
between Voltage and current. |

|

bA balanced delta connected load of 8+36 per phase iIs 6 L3 COl
connected to a 3 phase 230V, 50Hz voltage supply, find
1) phase current n) hne current m) power factor
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1V)powe1 V) reactrve powel vi) volt ampere

T What is advantage of high voltage tr ansmlssmn

PART B

'3 a Three coil each having resistance of 10Q and inductancei

of 0.02H are connected in star across 440V, 50Hz
3phase supply. Calculate the line current and total power

consumed.

b Define earthmg VVhy 1s earthing requned9 Explam pipe

earthing with diagram

8§ L2 CO4

4 a Write the differ ence between Fuse and MCB

¢ Mention the relative advantage and disadvantage of

overhead lines and underground cables for distribution

of electrical energy.

6 L2 CO3

OR

5 ‘L2 CO4

b Calculate the electricity b111 amount for a month of 31 R

days, if the following devices are used as specified.

(A) 3 bulbs of 40W for 6 hours

(B) 4 tube lights of

50W for 8 hours

" (C)AT.V. of 120W for 6 hours

_ Given the rate of electricity is Rs. 2.50 per unit

5 L3 CO4

e A Voltage V=100 sin 314t is applied to a circuit
con51stmg of a 25Qresistor and an 80uF capacitor in
series. Determine I) peak value of current ii) Power

factor iii) Total power consumed by the circuit. iv) find
the components of the power | tr1an01e

Lo
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10 L3 COl|
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